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 تحلیل گزینه پاسخ تست شماره تست

236 

  

  

  

 

237 

𝐴 = [𝐴𝑟]4𝑠23𝑑5 = 𝑀𝑛25
 

238 

239 𝑆𝑛 𝑂2𝐶𝑟2𝑂3

240 

241 𝐶2𝐻4𝑂

242 

1𝑔𝑟 𝑂 ~
1

16
𝑚𝑜𝑙 𝑂 

1.75 𝑔𝑟 𝑁 ~ 
1.75

14
 𝑚𝑜𝑙 𝑁

NO𝑁2𝑂

243 𝐶10𝐻18

244 

245 
2𝐻2𝑆 + 3𝑂2 → 2𝑆𝑂2 + 2𝐻2𝑂 

4𝑁𝐻3 + 5𝑂2 → 4𝑁𝑂 + 6𝐻2𝑂

246 
𝐹𝑒(𝑂𝐻)2 + 𝐻3𝑃𝑂4 → 𝐹𝑒3(𝑃𝑂4)2 + 𝐻2𝑂 

247 

1𝐶5𝐻12 + 8𝑂2 → 5𝐶𝑂2 + 6𝐻2𝑂 

400𝐿 𝐴𝑖𝑟 × 21% = 84 𝐿𝑂2 

84 𝐿 × 1.28
𝑔𝑟

𝐿
÷ 32 = 3.36 𝑚𝑜𝑙𝑂2 

3.36

8
𝑚𝑜𝑙 𝐶5𝐻12 = 0.84 𝑚𝑜𝑙

248 

195 𝑔𝑟 𝑍𝑛~3 𝑚𝑜𝑙 𝑍𝑛~3𝑚𝑜𝑙 𝑍𝑛𝑆𝑂4~483 
184 𝑔𝑟 𝑁𝑎~8𝑚𝑜𝑙 𝑁𝑎~ 4𝑚𝑜𝑙 𝑁𝑎2𝑆𝑂4~568 𝑔𝑟 

249 

200 × 5% = 10 𝑔𝑟 𝑁𝐻3~
10

17
𝑚𝑜𝑙 

37.8 𝑔𝑟 ~0.3 𝑚𝑜𝑙  
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250 

2𝐴𝑔𝑁𝑂3 + 1𝑀𝑔𝐶𝑙2 → 2𝐴𝑔𝐶𝑙 + 1𝑀𝑔(𝑁𝑂3)2

22.8
𝑔𝑟

𝐿
× 0.05 𝐿 = 1.14 𝑔𝑟 𝑀𝑔𝐶𝑙2~0.012 𝑚𝑜𝑙  

0.012 𝑚𝑜𝑙 − 0.01 = 0.002 𝑚𝑜𝑙 𝐴𝑔𝐶𝑙2~0.004 𝑚𝑜𝑙 𝐶𝑙− 

𝑀: 
0.004 𝑚𝑜𝑙

0.01 𝐿
= 0.04 

251 ∆𝐺 ≤ 0 → 𝑇 ≤
∆𝐻

∆𝑆
= 500 

252 3

2
1010 × 4 𝑔𝑟 𝐻2

571.8
= 7

253 
13500 = 0.2 × 4.2. ∆𝑇 → 𝑇2 = 41℃

254 

280000000 𝑔𝑟

28
= 107𝑚𝑜𝑙 𝐶𝑂 

107 × 175𝐾𝑗 ×
100

70
= 2.5 × 106𝑀𝑗

255 

256 0.2𝑚𝑜𝑙 × 122.5 = 24.5 𝑔𝑟

257 

258 
1.6 𝑔𝑟

56
𝑚𝑜𝑙 ÷ 0.1 𝐿 = 0.28

259 

260 

3𝐹𝑒 + 4𝐻2𝑂 → 1𝐹𝑒3𝑂4 + 4𝐻2

𝑅𝐹𝑒 =
3

4
× 0.02 = 0.015

261 
XA

262 
100𝐾𝑚 × (1.04 − 0.04)

30 × 2
𝑚𝑜𝑙 × 180𝐾𝑗 = 300

263 
𝐾 =

𝑎 × 𝑎

(0.04)2
→ 𝑎 = 6𝑚𝑜𝑙~6

𝑚𝑜𝑙

𝐿
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264 

265 
72

18
= 5𝑚𝑜𝑙 →

4

5
× 100 = 80% 

4𝑚𝑜𝑙 × 88 = 352 

266 
𝑃𝐻 = 10.7 → 𝑃𝑂𝐻 = 3.3 → [𝑂𝐻−] = 5 × 10−4 
[𝑂𝐻−]

[𝐻+]
= 2.5 × 107 

267 𝐾 =
(5 × 10−4)2

5 × 10−4
= 5 × 10−6

268 

2𝐻2O → 4𝐻+ + 4𝑒− + 1𝑂2 

PH=1

269 

270 

2𝐴𝑙 + 3𝐶𝑢2+ → 2𝐴𝑙3+ + 3𝐶𝑢 
200𝑚𝐿 × 0.05 = 0.01 𝑚𝑜𝑙 𝐶𝑢2+~0.01 𝑚𝑜𝑙 𝐶𝑢

6𝑒 × 0.01

3
= 0.02

 


